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Fs SHHESS HiA#MES | ‘ARG BES  |REHANER
1 34052 k% 183016 3 80. 40 78. 24 =2
2 34250 1skekekeiek 180793 2 81. 00 77.80 ps
3 34052 Iksketerok 1 52310 6 79. 90 77. 54 p s
4 34052 [kkskkx062013 1 77. 40 77. 24 &
5 34052 [tk 123314 9 78. 22 73.73 o
6 34052 Ikkekekeiek()13334 5 75. 30 72.78 @
7 34052 1kkkkk 156215 7 75. 60 72.56 =
8 34052 1kt 162310 8 74. 60 71.96 @
9 34052 Lseiekok(0834 16 4 74. 30 71.38 o
&AL —
F5 S ES 5 HiA#ES | HiARS RS | REHENERK
1 34052 I ssciekok 253329 8 80. 10 81. 26 p s
2 341126%#k5%%156723 2 82. 00 81. 20 Py
3 34052 1%k 183333 4 81. 80 81.08 =2
4 34052 1ktekek(012820 6 80. 70 80. 02 ps
5 34052 1kskskskekek 243040 12 80. 90 78. 94 5
6 34052 1k 162344 7 81. 40 78. 84 &5
7 34052 Lseiekek 202069 3 76. 00 78. 80 o
8 34052 1kt 183024 11 79. 20 78.72 &5
9 34052 Lskseekk 293020 9 77. 00 78. 20 o
10 34052 Itk 113043 5 78. 62 77.57 @
11 34052 1 k4103321 1 79. 40 77.24 %
12 34052 1##k5%302825 10 79. 30 77.18 &
<AL=
5 eSS HiA#E S | HiARS HBES  |REHENER
1 34052 1 stk 293023 2 81.20 80. 72 =
2 34052 1 kskkkk283312 4 78. 80 80. 08 =




3 34052 Lksksetekk 292329 6 80. 76 80. 06 o
4 34052 L kskskk040025 3 80. 32 76. 59 @
5 34052 1 kk4kk 140048 5 79. 80 75. 88 g
6 34052 1kt 183018 1 73.90 71.54 @
7 34052 1 #kkekck 182012 R / 27. 20 5
XKLt
Fs SHHESS HiA#ES | HiARS BES | REHANER
1 34052 1kt 252350 1 81. 00 79. 00 ps
2 342626%k4kx% 160028 2 77. 60 76. 96 o
3 341126%xkk086756 A / 30. 80 5
S EDAAN
Fs SHHESHS HiA#ES | HidRSHK BESR | REHEANERK
1 340505%k#%:x030027 5 80. 72 80. 43 =2
2 3405044310629 1 79. 80 80. 28 ps
3 3426235063047 4 78. 40 79. 44 =
4 34122 7*xxkk(073416 2 80. 20 78. 52 @
5 34052 [k 191621 3 79. 50 78. 50 o
6 34032 I #skkx031793 7 78. 50 78. 30 o
7 340823sxsickok 131238 6 78. 20 77. 32 o
8 34292 Isksksteiekeok 1 71828 8 77.72 77.03 @
9 34052 1 #kkk%223059 R / 31. 60 5




